GREENLAWNS HIGH SCHOOL
STD 10 PRELIMINARY EXAMINATION 2025 8§0M
Time 3 hours Mathematics

Attempt all questions from Section A and any four questions from Section B. All working
including rough work must be clearly shown and done on the same page as the rest of the
answer. Omission of essential steps will result in loss of marks.

SECTION A
(Attempt all questions from this section)

QUESTION 1
Choose the correct answers to the questions from the given options (15)

i) Raj deposited Rs 2000 per month for one year in a recurring deposit account at
11% p.a. the money earned by Raj is
a) Rs 24000
b) Rs 25430
¢) Rs 1430
d) Rs 715

i) The quadratic equation 4x? + px + 4=0 has equal roots if the value of p is
a) -8
b) 4
c) 8
d) £8

3 0 x} w7 the value of x and y respectively are
0 4|(Y -20}"
5

If
a) 3,-
b) -5,
c) 35
d) -3,-5
iv)  The inclination of a line whose equationis y — V3x+2=0is
a) 30°
b) 60°
c) 45°
d) 90°
V) in the given figure XY Il QR the value of zis
a) 2cm
b) 3cm
c) 4cm Sen
d) S5ecm

iii)
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Xi)
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In the given figure PT is a tangent to the circle with centre O, the value of x is

a) 65° -

b) 45°
g) 557 NS
d) 125° — I

An article is marked at Rs 1000. A dealer sells it to a consumer at 5% profit if the
rate of GST is 18% , the tax paid by the consumer is

a) Rs9

b) Rs 50

c) Rs189

d) Rs 180

The solution set for the inequation 2x +5 <15 ,x € W is

a) {1,2,3,4,5}

b) {0, 1,2,3,4,5}

c) {1,2,3,4}

d) {0, 1,2,3,4}

Identical cards having numbers between 4 and 15 are placed in a bag. A card is
drawn at random. The probability that the card drawn is an odd number and a
multiple of 3 is

a) 1/6

0) 7/19

c) 2/3

d) 10

Q(3,5) is reflected in line L; to get the image Q' (7,5) , the equation of line Ly is
a) X=3

b) Y=5

c) X=5

d) Y=3

The volume of a cone is 770cm? if the area of the base is 154cm? then the height
of the cone is

a) 15c¢cm

b) Scm

c) 10cm

d) 12cm

Mr Shah wants to invest Rs 40000 in a company. He buys Rs 100 shares at a
premium of Rs 25. Number of shares purchased by him are

a) 400

b) 320

¢) 1600

d) 1000
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Xiv)

XV)
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The sides AB , BC and AC of AABC touch the circle inscribed in it atPQandR
respectively. If PA= 5¢m , BP= 4cm AC =14cm then BC is
a)13cn

14cm

Sin“ @ —coté tan B + cos? @ =
a) 1

b) 2

C) -1

d) 0

Assertion: A cylinder and right circular cone have the same base and same height.
The volume of the cylinder is three times the volume of the cone.

_Reason: If the radiusof the cylinder is doubled and the height is halved then the

volume will be doubled.

a) Both A & R are true and R is the correct explanation for A

D) Both A & R are true but R is not the correct explanation for A
c) Aistrue butR is false

d) Ais false but R is true

QUESTION 2

a) The following bill shows the GST rates and discount offered on a few articles. (4)

k)
)

Find i) 2080

Calculate the total amount to be paid for the bill

Article Marked Price Discount GST
Hard Drive Rs 2800 10% 18%

Adaptor Rs 1900 ' IRY%
In the given figure O is the centre of the circle, ZR0S = 68° and £0SY = 55°(4)
i) £SOR

iii) 2QPS

iv) ZQRS

€} The equation of a line is 2x -3y + 7= 0 ,find (4)

i) Slope of the line
if) Equation of the line perpendicular to the given line and passing through

The intersection of the linesx —y +2 =0 & 3x + y -10 =0
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SECTION B

{Solve any 4 questions out of 7)

given figure O

Yali

i) Prove A/ 01

c) It the mean of

Frequencies
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